(B(3rd Sm.)-Philosophy-GI(GEICC-3)/CBCS

PHILOSOPHY — GENERAL

Paper : GE/CC-3
(Western Logic)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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(a)

(b)

(c)

(d)

(e)

(H)

(h)

[ English Version ]
The figures in the margin indicate full marks.

Choose the correct answer (any ten) :

An argument is invalid if
(i) its premises are true but the conclusion is false.
(i) both the premises and the conclusion are false.
(iii) its premises are false but the conclusion is true.

(iv) both its premises and the conclusion are true together.

In which of the following proposition both the subject and predicate terms are distributed?
(i) Some mangoes are not sour. (i) No grapes are not vegetables.

(iii) Some philosophers are mathematicians. (iv) All men are thinking animals.

The Contrapositive of ‘All S are P is
(1) Some non-P is not non-S (i) Some non-S is non-P

(iii) All non-P are non-S (iv) None of these.

If ‘I’ proposition is false, what will be its corresponding ‘O’ proposition?

(1) True (i) False

(iii)) Undetermined (iv) None of these.
Which relation of opposition of propositions holds good in modern logic?

(i) Contrary (i) Contradictory

(iii) Sub-contrary (iv) Sub-alteration.

The fallacy, committed in a standard form categorical syllogism in which both the premises are

negative, is

(i) Fallacy of undistributed middle. (i) Fallacy of four term.

(iii) Fallacy of negative premises. (iv) Fallacy of ambiguous term.

Among the following classes the one which is an empty class is

(i) The class of human beings (i) The class of deer

(ii) The class of gem-studded mountain  (iv) The class of swans.

What is the logical form of a tautological proposition?
(i) pv~p
(iv) p=~p.

(1) p-~p
(i) ~pv~p



(k)

U]
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If ‘p>q’ is false, what will be the truth value of ‘~p’?
(i) True (ii) False

(iii) Indeterminate (iv) None of these.

‘Dogs are always faithful; any faithful animals are reliable. Therefore, some reliable animals are
dogs.”— The fallacy committed in this argument is

(i) fallacy of undistributed middle (ii) fallacy of illicit minor.
(i) Existential fallacy (iv) fallacy of illicit major.
Which of Mill’s inductive methods has been applied in the following schematic example?
Antecedent Consequent
ABC abc
BC be
. ‘A’ is the cause of ‘a’
(i) Method of Agreement (i) Method of Difference

(iii) Method of concomitant variation (iv) Method of Residues.

The conclusion of analogical argument is always
(i) probable (i) necessarily false

(ii)) necessarily true (iv) None of these.

2. Briefly answer any five of the following questions : 5%5

(a)

(b)
(c)
(d)
(e)
(®

What is opposition of proposition? What are the different forms of opposition of proposition?
Give example of each of them.

What is conversion? Give an example. State, in this context, the rules of conversion.
State and explain any two differences between sentence and proposition with examples.
Explain briefly the different senses of ‘or’ with appropriate example.

Explain with examples the fallacy of undistributed middle and fallacy of four terms.

Transform the following sentences into logical form, express them in Boolean notation and represent
them by means of Venn Diagram (any two) :

(i) Mermaids do not exist.
(i) Only citizens are voters.
(i) All men are not honest.

(iv) Children generally like chocolates.
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(g) Give obverse of the following :
(i) All swans are not white.
(i) Nothing is both white and black at the same time.

. . xample.
(h) What is Mill’s Mecthod of Residues? Explain with a concrete ¢

3. Answer the following questions (any two) : categorical propositio
(@) (i) Reduce any two of the following sentences into standard form n

(A) There are white elephants.

(B) All men sometimes fall into error.

(C) He must work who wants to succeed.

. : ‘different forms ¢
(i) How many relations are possible between two classes? Discuss the f
logical propositions according to these relations.

(i) Which terms are distributed in different categorical propositions:

(b) Test the validity of the following argument by Venn Diagram and if invalid, mention the fallacy
committed (any three) : .

(i) AEE- 2nd Figure
(i) OAO- 4th Figure

(ii)) Since philosophers are men, they are not perfect, because no men are perfect.

3+8+4

(iv) No horses are centaurs. All centaurs are mammals. Therefore mammals are not horses.

(c) (1) Use truth table to determine the validity or invalidity of the following arguments :

(A) dvh)o(d-J) (B) EoF (C) KvL
~(1v]) FoE K
sLo~1-)) S~ EVF S ~L
(i) What is the truth condition of a logically equivalent statement form? (4x3)+3
(d) Explain and examine Mill’s method of concomitant variation. 10+3
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